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[:]
Value of $'27*C; is
k=0
(1) 3'C3—*C5 (2) 5'C3—*5C4 (3) 5'Ca — 50 (4)5'Ce
Ans. (3)
Sol. Cs+"Ca+——————- +*Cs

TEFS s



Ans.

Sol.

S TMLL 4 LI —————

=51C, + 51C3 — %504 = $1C. — 5Cs

2 dx
The value of integral is :- ~—
9 “!x’bf 3 2)
11+6In4 11-3In4 11+ 3In4 11-6Ind

(1) 6 (2) % (3) %5 (4) %
(4)
:[ dx

f 2 32
(I |

XK =

e

Let 11%—'( 3;—:dx—dl

1 t 2)
1 o A
== t—offL2
16[ r"} I.|,
-2 2 en22) (-2 12 -)
16} 2 RIS 3]

161 |
:—-1: 2:n3——1—»\!: —1 'nq—l—]]
6 6. (5] 51
_11-6¢nd
166
11-6Ind

96
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Ans.

Sol.

Ans.

Sol.

Remainder when (2023)203 is divided by 35, is

(1)28 (2) 7 (3) 14 (4)0
(2)
_J®EI 7, 72022
_-J,; -------

T 5

_ i 50_1!”“

B 5

_ [5a-1

T 5

remainder = + 1
when divided by 5 now remainder is 7 when divided 35

Given, function be f(x) = 2x" + i for which the value of f{4) = 133, {(5) = 255, find [{(3) - f(2)]
(38)

fl4)=2{4"+2 =133 f(5)=2(5")+iL=25

H(5) —1(4)= 2(5"— 47) = 122

= 51— (41) = 61

=n=3

=5u=3

= fi8) - () =2(35 - 2% =2 (27— 8)
=2(19)=38
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Ans.

Sol.

Ans.

Sol.

UG TSNS U BS TG | fA ) — M A g 1o e 1D [WGE] UIGHE LIS US2IT vaiuG Wi 1l

(10 2)3 (3)5 47
(3)

Iog‘.&(\?:_z(sinx —cosx)m— 2)e [02] € liog,. 110g,. 5]

- V2[sinx-cosx)+m-2<[tm] 0

Range of (sinx — cosx) is |-2,42]

So, from (i)

[-4+m,m] > [1,m]
-4+m=1=m=5

1 3
A= |10 "'i_” | B- E ||| and M - ATBA then A M2 AT s
Vo 10 | :
(1)B (2) B (3 B2 (4 -8

(3)

M2 = (ATBA] (ATBA|
= ATB (AAT) BA
=ATBIBA=ATB2A
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Ans.

Sol.

Ans.

Sol.

1 3] =3]
Jio vio| |Y1o Jio| _[1 0]
B~ Fes
M=y Ty 3 [ =[o 1]

:
Jio ol |Yio Vo |
MQR?'! X A"B?C;'.'!A

M =il 1 =i]_[1-4
«B=|p 1Ho 1|=[0 1]

1 -2 [1 =] _[1 -8i 1 20231
3340 1”@ 1__|=[o 1]—"‘32@:[0 43

. M2023 = ATR2023A
AT 2023 AT — A (ATB2023A) AT

e [1 —2023i
= R2023 —
3 _‘_D 1 ]

The number of numbers between 5000 and 10000 by using the digits 1, 3, 5. 7. 9 withou! repetition is
egualfo .

(1120 (2) 72 (3) 12 4)6
()

Digit in thousand place mustbe 5, 7 or 9.

=3 ways

MNow Total numbers between 5000 to 10000
are=3x=4x3=x2

=R2
If ﬂﬁ': —2is a circle then centre of circle is
z—i|
(1)(0,0) 2)(0 2 (3) (2,0} (4) (-2, 0)
(2)
[ x+iy+ 2 s X +(y+2f 4
| x+iy=i] = X ely-1f

=xF Ly Ay 4 =Ax® L 4y* 8y 4
=3x* + 3y?—12y =0

X2+ P-4y =0

Centre = (0,2)

If roots of x2 +« (60V'“x + 2 = 0 be « and B and the value of a* + B* = =30 then find the product of all



possible values of a

Ans. (45)

Sol. Since , of + pt =-30
= [{it + B)F — 20fiP — 2022 = —30
= [(-B0"#)2 — 2a]f — 2a? = — 30
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= WB0-2af — 222 - 30

= 60 + 4a® —daJe0 =2a2—30
— 222~ 4alV80) 4 50= 0
—a2-2al60) + 4520

So, product of value of a = 45

10. If (p -+ q)Alpvg) is a tautology then the ordered pair of 4, V s

(1) (vl (2) (vanl (3) [ruv) (4) (nn)
Ans. (1)
Sol. fA=V =y

= (p—>g)ulpva)
= ((~pvaglvplvg
= [(~pwplviglvq
= (tva)vg=tvq=t

11. If 1+ | |emddx= & .n| D-:J Then Value of m? +n® -5 is equal to
1 n \ e

Ans. (20)

Sol. - frxdx +| s

—(xemx - X.l1_f3.‘+ (xfnx—x)*

1 1 1
- -1y =( — in—-—" f -3 - (0-
[(0-1) (3 ng 3,]+[[3 n3 - 3) — (0-1)]
2——; +3m3——; in3-3

—-g +% m3 = (23 -1) %

ﬂl’ nB—fl'le]—i'ng
3 T3 e
m=4,n=3

m?in? 5= 42432 5-20

A=—1-]+k
12.  3xb=i-j
ab=1

Let a-6b— X +Yj+ 2K , then x + y + z equal
Ans. (9)
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I
Sol. axb=| 1 4 1
L
=(—zZy)i—jl—2-X) 4+ k{—y+X)=i—]
—z-y=1,Zz+x=-1,x=y

also[é.b)=1
~X=y+I=1
—2%+72=1
X+2==

-3x=2

. e =2t R k|
now a-6b=Fi-j+k/ B{ Z= 3}

=3+ 3] +3k

13. The probability of a smoker to get a lung cancer is 27 times the probability of 2 normal person getting ling
cancer. The probakbility that the man is smoker given that he is suffusing form lung cancer, hers it is given

1
that probability of a person to be smoker is i is

il & 3 8
30 pT AT A
Ans. (1)
1 3
Sol. P@©)=, . PN=7
P|'§|=2?Pf§}
\3 ) LN
6
P(SIP < |
F’|I§|= IS
T O G
PS)P| < | P{N..P[.NJ
1 a
3 4“2?”R‘N..|
1co7xP[€+3p( €]
4 INJ 4" Ny
21 27 9
T27+3 30 10
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14. If y = y(x] is the solution of equation % + oy =ve "™ where o, f, y >0 and o < f then ii_r,n,,_ y(x) is equal to.
Ans. (0)
Sol. IF.= /o g

Solution y.e” = je“.ye " de+C

=yet=y Ie“"ﬁ-" di+¢c

alo-filx



{a-p)
) Px
= ¥ix) = i ey
ey
lim Jim o™ '
XY=y 5 q |1_b]_ce’x
=0-0=0

1 1 1
15. ifa b, ﬁ; are in G.P. and ; <10, E are in A.P. also a, b, are positive then 12b + 16a =

Ans. (3)
=l
Sol. b?=-
= 18
1 |
20 = +b
1 1
20=——+=
180" b
360b2 =1 + 18b
360b2—180—1=0
pol8t42 1
T 360x2 12
18 1
anﬂa:TBb2=1 rinir

So,12b+16a=14+2=3

16. Twao dice are rolled If the probability that the Sum of the numbers on dice is n, where n-2, Jan ,
n + 2 are in geometric progression, is é . then the value of x is :-

(1) 4 (2) 12 3 7 ) 3
Ans. (1)
Sol. n-2 VJan,m2 . GP.

(anf=(n-2)n +2)

=3n=n°-4
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= n3n-4=0
= (n-4}n+1)=0

Zn=4n=-1

=n=4
3 1 4
Pleofio s =
( 4 36 12 48
—H=4
1+ L iy et
§ |cosxjjm x<g
17. Consider then function f(x) | Uy e x—g
coifx
gootax i . T
2

If f(x) is continuous at x = -; then (where 2. = 0)

8
2 : 3
(1}&:3.;1:33 (2)1:83:p:§
3 3
3 r e H
§35}_=Em=92 {4)L=92‘p=‘2

Ans. (1)



Sol.

18.

Ans.

Sol.

lim CoL6x lim sin4x cosx

r| T "| = T4 eboldy = 7 | @S Bx £os 4K
> e ..
2 2 2
lim Acosdx 2
- Ts€ 6oos 6y el
X —»=
2
(=) lim -
| |
LHLf [ E | = 7 (1 -r-|t:c::-:)t|]|m5)d =e'
| 2 Xy
A3 4 Z
2
B
he=—iais 93

Leti(x) = 2x% + (2p — T)x2+ 3(2p — 9) x — 6.If maximum value of f{x) occurs at negative x and minimum
value of f(x) occurs at positive x. then pe.....

il 8 ik (9 -]
{==g) @ (-] @ (5] (4) None of these
(1)
flx) =6x2+2 (20 —7)x + 3(2p - 9)
7(0] <0
3(20-9) <0
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19.

Ans.

Sol.

20.

Ans.

Sol.

20-9<0

-~

[ 9
pu:.—J_.E

It Ais a symmetric matrix and B & C are skew symmetric matrices of same order then

(1} A3 B2 — B2 A1 i3 symmetric (2) AC — A is symmetric
(3) A™ B?% — B* A' i3 shew symmetric (4) AC — A is skew symmetric
(3)

fA"" B — B2R A'IJ}T - EA‘.‘I BEE’T L IB'ZE A‘|3)T
= IB;G)T (A\S}r_ {A‘ﬁ)T (BM)T

= [B_']E (A'l)‘l_ {AT]‘S "BT}E

= E_B}Ea A11_A|e {_ B]x

= —(A!3B20 _B28 A13)

If the straight line 3x + 4y = 60 makes a Iriangle with co — ordinate axes. then the number of poinis (a b)
lying inside the triangle such that b is a multiple of a (where a | b =N), is
(31)

(0.15)

%)
N

(1.1)
(2.2)
(3,3), I
(4 , 4), (5, BY; ineirmininns

( ol {20.0) =

(6.6), (T, (8,8)......0..>3
Total number of points lying inside the triangle = 31

w
1]
&

2,
=
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